
Director's monitor cage

0600-0900
Version Date: 15-2-2019 15:01

Vocas Systems b.v. info@vocas.com www.vocas.com Page: 1/1

Item No Part Numbe Qty Description

1 13.002.01 2 Tube 19x13x157

2 09.041.01 2 Leather handgrip BBB bhg-26 brown

3 09.092.01 4 End Cap 13mm

4 02.058.01 4 Screw 2,9x16 DIN7982 ST ZN Z

5 13.003.01 4 Carry strap clip

6 13.001.02 1 Directors monitors cage bracket

7 02.024.01 2 Screw M3x10 DIN 912 12.9 st zn Z

8 02.004.01 2 Camera pin

9 10.076.01 1 Adhesive cork 12

10 09.061.01 1 Hex. key 3/16" 4,76mm. Unbrako DIN 911 kort

11 11.068.01 3 Magnet S-05-05-N

12 12.013.02 1 Screw 1/4"UNC X M6 X 19 A2

13 12.011.01 1 Ring d6,5 D10

14 09.075.01 1 Winged nut M6 II

4

3

5

2

7

5

3

4

12

13

14

10 11 9 8


